R A

2006 1%

®
E‘Zﬂgﬁgﬁ%ﬁt HER EDUCATION
=R K F R

GAODENG XUEXIAO YINGYU YINGYONG NENGLI KAOSHI

(AZ%)

& EAKF

Yl Z 4 K ¥ wrmat



HEYRRBEEAENSR
B RE R

(A %)

E % |ARA

F ¥ BAF

i L MW

% * HEF ERAK FHk
n OB F W

FHhZziFF it



[(MEEA] ABEENFORE ZESSERAENARNESRAOEURE, AASEER5RE
BT %t 2% E M KRR L B LU A (BB RS B AR . A .
LRAPER MR . ABHAER R R

BHEEMAEB (CIP) BT

A REE N R H B IR R KR A SO/ BKA X% . — L A Tk KR
Rt 2005. 10

(B EERIEM R AZ RN

ISBN 7 - 5612 - 2004 - 9

Lo 0. 8 1. BE—S%S%5 ME N.H319.6

o [ R A B 51 CIP 3 #8 4% 5 (2005) 58 109965 B

H R T PEAL Tolk K% B it

WeEwE. PIRHTAEEM 1275 HE4.710072
2} i%: (029)88493844,88491757

[ iit: http://www. nwpup. com

WBEM: rbook@nwpup. com

R O& RASAZEHSARIEAA

: 787 mmX1 092 mm 1/16

. 15,5

: 378 FF

: 2005 4E 10 HE 1 I 2005 4E 10 A% 1 WEIRI
: 23.00 JG

A& 4 3 H
S5 % 5 M



Bl

HTRICEREERETRIERBHFREABRGRIT) U TEAREARZRD K
27 BOF R S Pras R R B8 7, I 55 BY HOGUR 8 1 8 % 2 AR L AT e ) % L (PRET-
CO) 4 % LAC B % 2 B 3578 1 I BB 0 %5 K K 40) (BL R ARG R ) MR, FE N B R
GLERAXBEHERT BRARZK BOREH - BERSFERIEENRAENZANS. I
5 . BIGS 45 KGR P B 1 % iR 4 BRI (A 200 (B S RE N T ) %R
LERE R (B S0 (B %2R 3E B 8 25 AU R R (A 90D (R 2K
VB L FH B8 2 M LR RS R SR (B G0 )RR 45 2 A IR O AT AR D B R U S R SRV
(A/BZO).

A (0 46 2 A B I P BB h A R R AR (A 900, TR AN A B LA
SRS HERGRBEN I HAE U RSCREE

AP EBEH A AR, AR, 12 EREIRBYEEE RO &
Wi B BTk, B RGRMS X SR, S AR5 RS TR A & 56 5 bl
AT T BT R AR E ML LR, LA R S AR T

HE—ROR. ABREERBMEMERE RE TS % U ARRESS
A 5 70 B B % A 7 AT BB AT R B[R] AR AR KR .

Bz A B B R RIE S AL RE W R BiERE IR W& N
B EFELBRER,

AEFHMKPERRESRBERE - KA TE AFEHFER —ENERFFRBIBN
RN EREMMSHZIMHRE . REIIEHR TH PRETCO % K i fr A BRI 94 18
BEANMBIEY ., BRASEHEREEEERASBRENEE —E2ERABY.

AL HEM T BBEERR B K ESR R LI A AEFL R EMHm
ek M R R

EHELES RESHATAERALEBEMEN, KE—— 5, 1600 HAEERRE
L B A

B TR AR fE B K TH R, BB MRR AR, BiE KiEHE % R
BIE.

w &
2005 4 7 H



Model Test One
Model Test Two

Model Test Three -
Model Test Four =ss+»e

E—#a

Cescssscessecvessssccssns s

Model Test Five seceresescrascercestcrtscscnsseessecsesoacons
Model Test SIX ceesereccrcccescescssterccsssscrcccasarocane

Model Test Seven «+-

Model Test Eight
Model Test Nine

Model Test Ten eesasesessresetesnsescessra et vee BRs sao e

.. ecesscssssnane .
ceesses .
. evesee

Model Test Eleven oo sessescenserasscec st ettt assessres s e tersane

Model Test Twelve seeceseeestsetetiiactiiatestercceresccsttaccrtstaetsccctssasssaceetccnsacsonsases

EHy SEERSHAEAEN

Model Test One
Model Test Two
Model Test Three

Model Test FOur 86 008 205 523 00008000 E0T EEE IS0 GO EOS RED SO RO RS

Model Test Five

Model Test Seven

- 10
< 20
- 29
- 38
- 47

56

+ 65
- 74
- 84
- 93

Model Test Eight seeeereeresssescesnecreumnieriitatuitiniuniuniieesineseetenaiesonnnnsesns

Model Test Nine 066 6806 602908 080220 008000 08T 00C 000000 I0s RIS

Model Test Ten

102

- 111
- 120
+ 129
- 138

- 147
Model Test SIX 986 850000 900600 808 820 008000200008 000 006000000008 000000000000 00 t0e0TO00stentesTOtITs RIS

156

- 165

174

- 183
- 192



Model Test Eleven

Model Test TWelve +eeeeeeesseserssrnaronersensenerenresestseeescsstessescrsreeriersssmsressee

bt

Model Test One
Model Test Two
Model Test Three

W 1R XX

Model Test FOUI' €60 000 900 ERE eI ITE SR SPOIIT TIEEPIERIOI RGO EETOT

Model Test Five

Model Test SlX 660 000000000000 000508000000 00ca0e00ssstinecsserecrserscoe

Model Test Seven
Model Test Eight eeececcecees

Model Test Nine 000000608 000000 00000000000 ccsssrsos s ros s
Model Test Ten 990000000 000000 asn 00t s0ssOR eVE 00O RS 00

Model 'resl Eleven essccssssssenee

Model Test Twelve essssssessessevseecasere e

e 201

210

- 219
- 221
- 223
- 225
- 227
- 229
- 231

233

- 235

sesee

237

- 239
- 241



Model Test One
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Part | Listening Comprehension (15 minutes)
Directions: This part is to test your listening ability. It consists of 3 sections.
Section A
Directions: This section is to test your ability to understand short dialogues. There are 5
recorded dialogues in it, after each dialogue, there is a recorded question. Both the
dialogues and questions will be spoken only once. When you hear a question, you should
decide on the correct answer from the 4 choices marked A), B), C) and D) given in your
test paper. Then you should mark the corresponding letter on the Answer Sheet with a
single line through the center.
Example: You will hear:
You will read : A) New York City. B) An evening party.
C) An air trip. D) The man’s job.

From the dialogue we learn that the man is to take a flight to New York. Therefore,

C) “An air trip” is the correct answer. You should mark [C] on the Answer Sheet.

Now the test will begin.

1. A) In a department store. B) In a book store.
C) In a library. D) In a hotel.
2. A) During dinner. B) Before dinner.
C) Right after dinner. ; D) Tomorrow.
3. A) they are doing shopping. B) They are frying a chicken.
C) They are selling food. D) They are having dinner.
4. A) No, not at all. B) Yes, with her mother.
C) Yes, after she goes home. D) Only if she is introduced.
5. A) Because he has to go outside. B) Because he has to work early.
C) Because he has to catch the bus. D) Because he has to have breakfast.
Section B

Directions: This section is to test you ability to understand short conversations. There are 2

recorded conversations in it. A fter each conversation, there are some recorded questions.

Both the conversations and questions will be spoken twice. When you hear a question, you

should decide on the correct answer from the 4 choices marked A), B), C) and D) given in
S l —



your test paper. Then you should mark the corresponding letter on the Answer Sheet with a
single line through the center.

Conversation 1

6. A) His daughter. B) His niece.

C) His wife. D) His brother.
7. A) A chess set. B) A handball set.

C) A purse. D) A pen and a pencil.
Conversation 2
8. A) Scenic spots in Paris, B) A business trip.

C) Whether to go to Paris or London. D) Where to spend their holiday.
9. A) In July. B) In August.

C) In September. D) In October.
10. A) Quite good. B) Just so so.

C) Not delicious. D) Very salty.

Section C

Directions: This section is to test your ability to comprehend short passages. You will hear a
recorded passage. After that you will hear five questions. Both the passage and questions
will be read twice. When you hear a question, you should complete the answer to it with a
word or short phrase (in no more than 3 words). The questions and incomplete answers are
printed on your test paper. You should write your answer on the Answer Sheet correspondingly.
Now the passage will begin.

11. What is the speaker’s major?

It is

12. When did the two friends meet last time?

ago.

13. What is Lily’s problem in her study of English?
She has to practice English.

14. Which country does Lily’s boyfriend come from?

He is from

15. In which country does the speaker want to study?
In

Part I Vocabulary & Structure (15 minutes)
Directions: This part is to test your ability to construct grammatically correct sentences. It
consists of 2 sections.

Section A

Directions: In this section, there are 10 incomplete sentences. You are required to complete
each one by deciding on the most appropriate word or words from the 4 choices marked A),
B), C) and D). Then you should mark the corresponding letter on the Answer Sheet with a

J— 2 —_—



single line though the centre.

16. The doctor said I go back to the hospital; my leg is all right now.
A) mustn’t B) needn’t C) won’t D) can’t
17. They shut their town house and moved to the country for the summer.
A) down B) off C) in D) up
18. As.a matter of fact, they would rather leave for Beijing than in Shanghai.
A) stay B) staying C) stayed D) to stay
19. He was very sorry her at the airport.
A) not to meet B) to not meet
C) to have not met D) not to have met
20. The grain output of this year is much higher than of last year.
A) that B) such C) which D) what
21. He got a message from Miss Zhang Professor Wang couldn’ t see him the
following day.
A) which B) whom C) that D) what
22. The play is said to be worth seeing. You must have seen it yesterday evening,
you?
A) didn’t B) mustn’t C) did D) can’t
23. If ever again happens an accident like this, we will have only ourselves to
blame. :
A) it B) so C) there D) that
24. Tt is difficult for us to explain phenomena of which we have little or direct
knowledge.
A) not any B) no C) none D) nothing
25. Finally they set off again and cycled slowly along the road. “We are not as good at this
as we ,” complained Mary.
A) should be B) would be C) will be D) have been
Section B

Directions: There are 10 incomplete statements here. You should fill in each blank with the

proper form of the word given in the brackets. Write the word or words in the corresponding

space on the Answer Sheet.

26.
27.
28.

29.
30.
31.

This suit is rather dirty now. It’s sometimes since it (wash)
When he arrived at the hospital, he asked worriedly who was (operate) on.
The medical team did more than (complain) about the poor working condition

and started working immediately.

Tom took no notice of what 1 was saying because he thought I (cheat) him,
Jack must (go) away—we can’t find him anywhere in the factory.
The director has an entertainment (allow) , money for entertaining important

customer, etc,



32. The clerk of the company entered the hospital (examine)

33. The secretary worked late into the night, (prepare) a long speech for the
president.

34. You would have been able to do it, if you (try)

35. Because of her (refuse) to provide the information, I had to abandon the
project.
Part 11 Reading Comprehension (40 minutes)

Directions; This part is to test your reading ability. There are 5 tasks for you to fulfill.
You should read the reading materials carefully and do the tasks as you are instructed.
Task 1

Directions: A fter reading the following passage, you will find 5 questions or unfinished
statements y numbered 36 through 40, For each question or statement and mark the corresponding
letter on the Answer Sheet with a single line through the center.

Each day every person in the United States throws away more than five pounds of
garbage (##%). There is more garbage now than ever before and most of it is made up of the
packages and cans in which we buy our food. The traditional way of getting rid of solid
wasters is quickly becoming inadequate. Many cities are experimenting with newer ways of
handling their growing piles of garbage.

One of those new ways is “recycling (%3 fi)”. Through recycling usable materials are
taken out of garbage and made into something else. These usable parts of garbage are put
through the cycle of going from a raw material to a finished product again.

In some cities a machine called Hydrapulper is being used to help recycle garbage. A
Hydrapulper is like a huge mixing machine. The garbage is dropped onto a conveyor belt that
feeds the machine. At the same time, water is pumped into the Hydrapulper. With a mixing
action, the Hydrapulper throws out the heavy metal objects that can later be sold as waste
mental, the rest of the garbage—paper, food, plastic, rubber, glass, wood, leaves, and
other items—falls apart. The waste is then missed with water and carried to another piece of
equipment where glass, sand, and small pieces of metal are thrown out.

With the Hydrapulper, up to 95%of the original garbage is made again useful. The rest
turned into furnace ash.

36. Traditionally, garbage is thought to be

A) able to recycle but difficult to handle

B) something that can be reused

C) a raw material for making new products

D) a worthless burden to big cities
37. How does the Hydrapulper work?

A) 1t pumps water into garbage and mixed it.

B) It separates garbage into useful and useless things.

- 4 —



C) 1t collects heavy mental objects for selling.

D) It throws away glass and sand from garbage.

38. A lot of cities are trying new ways to treat garbage mainly because

A) they need new materials made from garbage

B) they are short of useful materials

C) their traditional ways of dealing with wastes are not efficient

D) their environment is becoming more and more dirty
39. What is done to the wastes that are useless when the new way is used?

A) They are thrown away. B) They are stored in a certain place.

C) They are turned into solid objects. D) They are burnt.

40. What is the purpose of this passage?

A) To introduce how the Hydrapulper deals with garbage.

B) To tell what the writer thinks of the idea of getting rid of solid wastes.

C) To explain why garbage should be recycled.

D) To descried an experiment in which a Hydrapulper is used.

Task 2
Directions: This task is the same as Task 1. The 5 questions or unfinished statements are
numbered 41 through 45.

Television carries more national advertising than any others in the United States. The
same is true in some smaller countries such as Spain and Portugal, where it is the only
medium reaching a general national audience. In many countries—Sweden and Denmark, for
example-—the state-owned television accepts no advertising. In many other countries the
amount of commercial time is extremely limited, as in France, Germany, and Italy. Soviet
state-owned television began accepting a limited amount of advertising in 1988.

The chief reason for the population of television among United States advertisers is that

it reaches a vast number of people at the same time. While it can cost well over $ 100,000,

a 30-second commercial on network television can be seen and heard by as many as 25milliom

viewers. For manufacturers who must make prospects aware of their products and convince
them of its benefits immediately, there is nothing as efficient as television advertising.
Because it employs motion as well as words, graphics, sound, and music, television is a

valuable medium for products that lend themselves to demonstration. No other medium is

effective in showing how quickly an automobile can accelerate or how well a brand of

wristwatch will stand up under abuse and continue to run. Similarly, it is an ideal medium

such as long-distance telephone calls.
41. Which medium carried most national advertising in Spain?
A) Radio. B) Newspaper. C) Television. D) Internet.
42. State-owned televisions accept ads in the following countries except
A) Portugal B) Sweden C) France D) Italy
43. What does this passage mainly talk about?
- 5 P



A) TV can make advertisers aware of their products.
B) TV is more popular than any other medium in the United States.
C) TV covers a large audience at the same time.

D) TV carries more national advertising than other media in the United States,

44. The word “commercial” in Para. 2 means

A) advertisement B) business C) notice D) positive
45. The writer of this passage is about the benefits of TV advertising.

A) optimistic B) unconcerned C) enthusiastic D) positive
Task 3

Directions: A fter reading the following introduction to the cause on First Certificate in
English , youare required to complete the outline below it (No, 46 through 50). You should
write your answers briefly (inon more than 3 words) onthe Answer Sheet correspondingly.

Finding new employees who will fit the needs of the company is not always easy. First,
the company must think carefully about the tasks involved in each job to be filled and about
the skills, abilities, and knowledge a person must have in order to carry out those tasks
successfully.

Second, it has to find people who meet these requirements. One of the most common
ways to find employees for these positions is to look within the organization. Is there anyone
currently in the organjzation who could do the job?

If no one within the firm is qualified, look outside the organization. Some of the most
common sources of new employees are high schools, junior colleges, four-year colleges, and

universities. Firms also use newspapers to help locate job applicants.

The article is about hiring 46 for companied. There are some requirements for
candidates, such as the skills, abilities, 47 . In order to find qualified applicants, a
company can look both 48 and outside its organization. Some of common outside

sources are 49 , junior colleges, four-year colleges, and universities. Companies also

use newspaper ads to help 50

Task 4 A

Directions; The following is a list of terms of internet. After reading it you are required
to find the items equivalent to those given in Chinese in the table below. Then you should
put the corresponding letters in the brackets on the Answer Sheet , numbered 51 through 55.
A—Networked computer stations; dial in access

B—Campus wide area network

C—Computers and a laser printer in each classroom

D—Private directories for all students and staff

F—Interactive distance learning stations

G—Instructional media

H—student stations



I—Resources accessible campus-wide via fiber optic network
J—On-line research services

K—Student-run stereo radio station

L—Telephone in every classroom

M-—Voice mail for all staff

N—Electronic Bulletin Board available around the clock
(O—T-1 Internet Access

Example: (D) iR TAHABF - COF. &4 .08 1::8"]

51. ( ) 8% B P 4% 52. (D EECH B BOLITERHL
53. ( YA ST R R 54, ( B TIEFRM

55. ( VB LR &

- Task §

Directions: The following is a passage. After reading it you should give brief answers to
the 5 questions (No. 56 through No. 60) that follow. The answers (inno more than 3 words)
should be written after the corresponding numbers on the Answer Sheet.

Many countries face a somewhat more serious economic problems in the form of an
unfavorable trade balance (¥ 5 %2) with other nations. Such an imbalance exists when the
total value of a country’s imports exceeds that of its exports. For example, if a country buys
$ 25 billion of products from other countries, yet sells only $ 10 billion of its own products
overseas, its trade deficit (#%) is $ 15 billion. Many underdeveloped nations find themselves in
this position because they lack natural resources or the industrial capacity to use these
resources, and thus have to import raw material or manufactured goods.

One effect of a trade deficit is the flow of currency (#) out of a country. In the case of
an underdeveloped nation, this can cause many financial difficulties, including failure to meet
debt payments and obstacles to creation of an industrial base. Even in the case of a fully
developed nation such as the United States, a large trade deficit is reason for alarm.

American products, made by well-paid workers in US industries, cost more to produce than

those made in places like Asia, where labor and material costs are much lower. Money spent

on foreign products is money not spent on items produced by domestic industries.

56. What does this passage mainly discuss?

The cause and consequences of .

57. According to the passage, when does a trade imbalance occur?
When the value of the products a country imports is than the value of the
products it exports.

58. What does the word “deficit” probably mean?

59. What is the main result of trade deficit in developed countries?

Causing .

60. What influence of trade imbalance is on American industries?
J— 7 -



Part N Translation—English to Chinese (25 minutes)

Directions: This part, numbered 61 through 65, isto test your ability to translate English to

Chinese. After each of the sentences numbered 61 to 64, you will read four choices of

suggested translation. You should choose the best translation and mark the corresponding

letter on the Answer Sheet. And your paragraph numbered 65, write your translation in the

corresponding space on the Translation/Composition Sheet.

61.

62.

63.

64.

65.

We can make but little progress if we continue to learn only through the medium of our
eyes.

A MRERN¥FIERZRARINOBRE KAXFHRE.

B) MRBAVUAREE ¥, BRAS#HLIRKE .

O) MRMHERBRINEINME—HA RITRAERHL K.

D) {4k IR g %, AT BE BB Rl 4 /N 2

Computer databases and electronic mail system shave been around since the late 1970s.
A) HEVBEEERE TR 20 HE 70 FRK,ERLEAET .

B) 20 4 70 FRFH LR, ITEVBIEEMG FIERRE T ZHA.

C)y 320 e 70 FR AN BEEMAB THERERCTEFET .

D) 7 20 42 70 EREH  HHENBEEME FHRACERT.

No one can use cell phones in any areas at the hospital where equipment might be

affected by the interference from cell phones.

A) EERMEMEXBHEABERAFI.BHEZRNREHTH.

B) 7EE B M T X8, FH SRR ENMEA EMABRABEA.

O ERERAAFAFI BEALEWIENER.

D) EEBR W .7 BT 88 T 40 50 & F i R 4] D3 28 E R F 4L

After receiving a clean bill of health, each person can then be processed for entry into the
army.

A HER—HEREER BOARBREISERE.

B) RESASANBEROAN A ENBRFEXEN.

O BAMARBRIGHBEARE R, FREEHTSEFENH MR

D) EHE - KREAKREZE BMNBEREFHMESEFLE,

There is a great difference between the climate of northern China and that of the
southern part. In the south, summer is very hot and winter is mild with no snow at all.
In the north, summer is short and mild, while winter is long and cold with a good deal

of snow.




Part V Writing (15 minutes)
Directions: This part is to test your ability to do practical writing. You are required to
write a letter according to the information given in Chinese below. Remember to write the

letter on the Composition Sheet.
{iE ¥4 /2 ¥} (Contributions Wanted)

HE:D AP IEENRAIRATDA T HEBEMWIEIAN IS H.
2) MG T3 & F e XM KA -
SEIIE OB RE 5
b, MEAFAEF BHE . RETHERMRY
c. By Tk 4 (spare-time) 4§ ;
d. HAth,
3) KM ML 1 000 F; HICKHERITF.
4) EMMARA,3 A RBEEE.
5 BRRAN:HA.
6) BeR bk - AR AFKRE.

p



Model Test Two

Part | Listening Comprehension (15 minutes)
Directions: This part is to test your listening ability. It consists of 3 sections.
Section A
Directions: This section is to test your ability to understand short dialogues. There are 5
recorded dialogues in it, after each dialogue, there is a recorded question. Both the
dialogues and questions will be spoken only once. When you hear a question, you should
decide on the correct answer from the 4 choices marked A), B), C) and D) given in your
test paper. Then you should mark the corresponding letter on the Answer Sheet with a
single line through the center.
Example: You will hear:
You will read : A) New York City. B) An evening party.
C) An air trip. D) The man’s job.

From the dialogue we learn that the man is to take a flight to New York. Therefore,

C) “An air trip” is the correct answer. You should mark [C] on the Answer Sheet.

Now the test will begin.

1. A) Boss and secretary. B) Husband and wife.

C) Salesman and customer. D) Doctor and patient,
2. A) Sunday. B) Saturday. C) Friday. D) Monday.
3. A) He is a boat builder. B) He smokes a pipe.

C) He paints watercolors. D) He is a plumber,

4. A) He broke the window to enter his house.

B) He entered his house by opening a window.

C) He got into the wrong house.

D) He got into his house from back door.
5. A) Going to the library to find a job.

B) Borrowing some books from the library.

C) Doing his work in he library.

D) Trying to find some books in the library.
Section B
Directions: This section is to test you ability to understand short conversations. There are 2
recorded conversations in it. After each conversation, there are some recorded questions.
Both the conversations and questions will be spoken twice. When you hear a question, you
should decide on the correct answer from the 4 choices marked A), B), C) and D) given in
your test paper. Then you should mark the corresponding letter on the Answer Sheet with a



single line through the center.

Conversation 1

6. A) About 8 o’clock. B) About 9 o’clock.
C) About 10 o’clock. D) About 11 o’clock.

7. A) He wanted to see the woman. B) He had an appointment with Mr. Li.
C) He came to book a room, D) He hoped to order some goods.

8. A) Send him back to his hotel. B) Give him the necessary documents.
C) Book a room for him. D) Call a taxi for him to the office.

Conversation 2
9. A) He doesn’t know the way.

B) He doesn’t speak much English.

C) He doesn’t understand what the woman said.

D) He was busy doing something. :
10. A) England. B) Italy. C) France. D) Not known.
Section C
Directions: This section is to test your ability to comprehend short passages. You will hear a
recorded passage. After that you will hear five questions. Both the passage and questions
will be read twice. When you hear a question, you should complete the answer to it with a
word or short phrase (in no more than 3 words). The questions and incomplete answers are
printed on your test paper. You should write your answer on the Answer Sheet correspondingly.
Now the passage will begin.
11. How did Mr. Black go to work every day?

He went to work

12. Where was the poor man?

He was

13. What did Mr. Black always do when he passed the poor man?
He gave him

14, What did the poor man do when Black did not stop in front-of him?
He stood up quickly and him,

15. What did the poor man do every day?
He sat near the bridge and

Part 1 V Vocabulary & Structure (15 minutes)
Directions; This part is to test your ability to construct grammatically correct sentences. It
consists of 2 sections.

Section A

Directions: In this section, there are 10 incomplete sentences. You are required to complete
each one by deciding on the most appropriate word or weords from the 4 choices marked A) ,
B), C) and D). Then you should mark the corresponding letter on the Answer Sheet with a



